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H2e 59 8o 2.8 x 5 = 14(HH) FU ot
36 x 3.14 x 14 = 1582.56( cm)= 15.8256(m)
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= 80 x 3.14 = 251.2(cm)
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=251.2 X 2.5 = 628(cm)
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[> FEHl 28.26.cm?
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=314+314+2=5(cm)
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=25.12+3.14+2 = 4(cm)
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=5x5x3.14-4x4x3.14

— 78.5 — 50.24 = 28.26( cm?)
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(el9l ge))
= (12 x 3.14) + (4 x 3.14)

= 37.68 4 12.56

= 50.24(cm)

(&el)

= (6x6x3.14) — (2 x 2 x 3.14)
=113.04 - 12.56

= 100.48( cm?)
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[> &l 125.6m

(7rgol7t AL Ad) = (352 E4) x2
=20x3.14x2 = 125.6(m)
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(HFA] )2 x 3.14 = 69.08

(HF2]5)x6.28 = 69.08

(HF2] )= 69.08 + 6.28

(§F2]5)= 11(cm)

@e] wo] 11 x11 x 3.14 = 379.94( cm?)
AR & Holdo] 1 36.4+4=9.1(cm)
A2l Yol 1 9.1x9.1 = 82.81(cm?)
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= 379.94 — 82.81 = 297.13(cm?)
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= 28.26 + 18.84 4 9.42
= 56.52( cm)
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